Ll LEEMIN

E2HRHRIE

(2150

HIGH PRESSURE BALL VALVES

(—) SR MEBEFRSE APPLICATION AND PERFORMANCE DATA
AEAFIVEE LENRENBAES.
These ball valves are used as on-off units for starting or stopping medium flow in industrial pipe lines .
(Z)FHA
¢ K T SW, Kis)
| Sdbd
L
SW L H H1 D d H2£T/GB5783-86
9 135 10 40 26 19 M5X8
12 165 12 52 31 21 M5X8
14 181 13 61 33 22 M6X10
17 221 15 75 38 26 M8X12

(=)YJzQ BYEK}® YJZQ MODEL BALL VALVE

#J-S-J5AH MODEL CODE

YZQ—HOO
NAJEELL threaded
TK % Ball valve BHR= plated
INFRIE F1Press. H=32MPa /AFFIBZ Dia.(mm)
sw

H2

— 3 :

- T Z;J \ )

) \
1 .

H1

AN

B = R ~FSize (mm)

M [F L L1 L2 H H1 H2 H3 SwW
YJZQ-H10N M18X1.5 32 79 42 14 52.5 17 40 8 9
YJZQ-H15N M22X1.5 35 86 48 16 52.5 17 40 8 9
YJZQ-H20N M27X2 48 108 60 18 75 24 57 12 14
YJZQ-H25N M33X2 57 116 65 20 82 285 64 12 14
YJZQ-H32N M42X2 68 136 72 22 95.5 34 75 14 17
YJZQ-H40N M48X2 80 148 80 24 110.5 40 90 14 17
YJZQ-H50N M64X2 100 180 100 26 130.5 50 100 14 17




LEEMIN

*‘ﬂ el
b EHEdEN
e S
H F
- D1Xd0 -
" GBI23576
(D) (A =
- H2 e} \OJ /’ N\ Y
" e U/
BRI G
W £ > @)
NS
= R ~FSize (mm)
B =
E F L L1 L2 13 L4 L5 H H1 H2 D dXL DIXdO Sw
YJZQ-H10B 38 54 78 45 60 11 10 45 54 42 . 9.5 M6X40 16X2.4 .
YJZQ-H15B 42 60 88 52 56 6 16 | 495 | 57 45 13 M8X45 20X2.4
YJZQ-H208B 50 70 | 105 | 60 70 75 | 175 | 57 72 55 11 18 M10X55 30X3.1 "
YJzQ-H258 55 77 | 120 | 7 80 3 25 | 625 | 78 60 12 22 M10X60 32x3.1
YJzQ-H32B 75 | 100 | 159 | 99 | 120 | 14 21 | 815 | 965 | 76 " 30 M12X70 40X3.1 u
YJzQ-H408 9 | 122 | 185 | 112 | 150 | 23 18 97 | 1105 | 90 36 M16X90 50X3.1
(M) S EBKHE KHB/KHM
BSKRSITERH)
O—>O0-—pNO—0O
KHB: [RJEREITRKRIDN04-25 e— AL . TE’F%E?E(NBR)
KHM . %l BUER EIDN32-50 = 2. FUREK(FPM)
EFER R Connecting AFRES Press.(bar)
FAR. WE. BhAR; REBLDIE
5 SW1
BRI RS R L
|
| e S
KHB o || ‘ i 70
H 7"" { kv) E
N1
L1 LW
B
L SwWi1
i 2
DN _
T )
—
2 B L1 _

I —




Ll LEEMIN

W el
WBHIHHRIE
FEFEFZ R, Connection A S Model DN LW | RA dl i L L1 B H hl h2 h3 | SW1 | Sw2
KHB-G 1/8 -PN500 04 06 - | G1/8 10 69 37 | 28 | 445 13 32 8 9 22
KHB-G 1/4 -PN500 06 06 - | GL/4 14 69 37 | 28 | 445 13 32 8 9 22
dl KHB-G 3/8 -PN500 10 10 - | G3/8 14 72 42 | 32 52.5 17 40 8 9 27
«| | KHB-G 1/2 -PN400 16 15 - | G1/2 16 83 47 | 38 63.5 19 46 11 12 32
[ 2| [ KHB-G 374 -PN315 20 20 - | G3/4 18 95 60 | 48 75 24 57 12 14 41
N KHB-G1 -PN315 25 25 - | Gl 205| 113 | 65 | 57 82 28.5 64 12 14 50
o KHM-G1 1/4-PN315 32 30 - | G11/4 22 | 110 | 84 | 82 108 41 87.5 14 17 60
KHM-G1 1/2-PN315 40 38 - | G11/2 24 | 130 | 91 | 93 | 119.5 | 46.5 99 14 17 70
KHM-G2 -PN315 50 48 - | G2 26 | 140 | 100 | 110 | 135.5 55 115 14 17 80
KHB-06LR -PN500 04 04 | 06 | M12X1.5 | 10 67 37 | 28 | 445 13 32 8 9 22
KHB-08LR -PN500 06 06 | 08 | M14X15 | 10 67 37 | 28 | 445 13 32 8 9 22
KHB-10LR -PN500 08 08 | 10 | M16X15 | 11 74 42 | 32 52.5 17 40 8 9 27
KHB-12LR -PN500 10 10 | 12 | M18X15 | 11 74 42 | 32 52.5 17 40 8 9 27
KHB-15LR -PN400 13 13 | 15 | M22X1.5 | 12 82 47 | 38 | 63.5 19 46 11 12 32
; KHB-18LR -PN400 16 15 | 18 | M26X15 | 12 82 47 | 38 63.5 19 46 11 12 32
7 KHB-22LR -PN315 20 19 | 22 | M30X2 14 | 101 | 60 | 48 75 24 57 12 14 41
KHB-28LR -PN315 25 25 | 28 | M36X2 14 | 108 | 65 | 57 82 28.5 64 12 14 50
KHM-35LR-PN315 32 30 | 35 | M45X2 16 | 141 | 84 | 82 108 41 87.5 14 17 60
KHM-42LR-PN315 40 38 | 42 | M52X2 16 | 162 | 91 | 93 | 1195 | 46.5 99 14 17 70
KHB-08SR -PN500 04 05 | 08 | M16X15 | 12 73 37 | 28 | 445 13 32 8 9 22
KHB-10SR-PN500 06 06 | 10 | M18X15 | 12 73 37 | 28 | 445 13 32 8 9 22
KHB-12SR-PN500 08 08 | 12 | M20X15 | 12 76 42 | 32 52.5 17 40 8 9 27
KHB-14SR-PN500 10 10 | 14 | M22X1.5 | 14 80 42 | 32 52.5 17 40 8 9 27
KHB-16SR -PN400 13 13 | 16 | M24X15 | 14 86 47 | 38 63.5 19 46 11 12 32
KHB-20SR -PN400 16 15 | 20 | M30X2 16 90 47 | 38 63.5 19 46 11 12 32
KHB-25SR -PN315 20 20 | 25 | M36X2 18 | 109 | 60 | 48 75 24 57 12 14 41
KHB-30SR -PN315 25 25 | 30 | M42X2 20 | 120 | 65 | 57 82 28.5 64 12 14 50
KHM-38SR -PN315 32 30 | 38 | M52X2 22 | 153 | 84 | 82 108 41 87.5 14 17 60
KHB-M12X1.25-PN500| 04 04 8 | M12X1.25| 09 61 37 | 28 | 445 13 32 8 9 22
KHB-M16X1.5-PN500 | 06 06 | 11 | M16X15 | 11 69 37 | 28 | 445 13 32 8 9 22
KHB-M22X1.5-PN500 | 08 08 | 16 | M22X15 | 12 76 42 | 32 52.5 17 40 8 9 27
KHB-M27X1.5-PN500 | 10 10 | 20 | M27X15 | 12 76 42 | 32 52.5 17 40 8 9 30
KHB-M30X1.5-PN400 | 16 15 | 24 | M30X15 | 13 84 47 | 38 63.5 19 46 11 12 32
KHB-M36X2 -PN315 20 20 | 30 | M36X2 15 | 103 | 60 | 48 75 24 57 12 14 41
KHB-M42X2 -PN315 25 25 | 35 | M42X2 18 | 116 | 65 | 57 82 28.5 64 12 14 50
KHM-M52X2-PN315 32 30 | 40 | M52X2 20 | 149 84 | 82 108 41 87.5 14 17 60
KHM-M60X2-PN315 40 38 | 50 | M60X2 22 | 174 | 91 | 93 | 119.5 | 46.5 99 14 17 70

BSHSAToRE)
KHP — [0 —PN315—[J
HEE . THEIRE(NBR)

HRAFKIE Platd Ballvalve EEAR 7. FUREEPM)
AFRIER Dia.(mm) AFRIE ST Press.(bar)

FAH: W AR REBHEAIE

AR R

L1

L2

L6

L3
L7

SW1

$D3
$D2,

L1 sw2 e £ | 1]

H1




Ll LEEMIN

BRRIE

b &7 ]
5>

S // N FRi@EModel/Dia| DN LW L L1 L2 L3 L4 L5 L6 L7 B B1
KHP-06 6 6 64 8.5 / 59 25 8.5 35 35 40 27
KHP-10 10 9.5 80 8 275 | 71 29.5 10.5 44 55 56 40
KHP-16 16 16 110 8.5 415 | 100 | 435 17 58 83 62 45
KHP-20 20 20 127 10 485 | 117 51 20 69 97 70 51
KHP-25 25 25 145 10 57.5 | 135 62 24 81 115 80 60
KHP-32 32 30 177 12 68 165 75 29 926 136 100 78
KHP-40 40 38 192 28.5 56 180 | 85.5 28.5 112 112 130 95
KHP-50 50 48 245 38 68 220 106 38 136 136 149 112

S //AFRIBIZ Model/Dia. | SW1 SW2 H H1 H2 D D1 D2 D3 A S 0FZ B 0°ring
KHP-06 9 22 39 30 6 6.6 11 6 12 1.4 23 12X1.9
KHP-10 9 30 54.5 42 8 9 13.5 9.5 16 1.8 33 16X2.4
KHP-16 12 36 67.5 50 11 9 13.5 16 25 1.8 41 25X2.4
KHP-20 14 41 80 62 12 10.5 16.5 20 30 2.4 51 30X3.1
KHP-25 14 50 86 67 12 10.5 16.5 25 35 2.4 56 35X3.1
KHP-32 17 65 110 90 14 13 19 32 40 2.4 77 40X3.1
KHP-40 17 75 120 100 14 17.5 26 38 50 2.4 82 50%3.1
KHP-50 17 75 130 110 14 22 33 48 60 2.4 88 60X3.1

BIS//AFR@IE Model/Dia. 424 Thread DIN912 HFEMANM BB R ECH v 0. 140 FUAREE

KHP-06 M6-10.9 13

KHP-10 M8-10.9 30

KHP-16 M8-12.9 35

KHP-20 M10-12.9 60

KHP-25 M10-12.9 60

KHP-32 M12-12.9 110

KHP-40 M16-12.9 300

KHP-50 M20-12.9 600
RABRIRAEERE R T x4
Connection size

EXREMENRTRE

X3

(X5)

. | : =] ootion |
> <
Ra1.6
)
BH/AZEIS0 2768
X1
X2
BS/ARBE Y1 Y2 X1 X2 X3 X4 X5 d2 M

KHP-06 13.5 27 / 35 0 35 35 6 M6
KHP-10 20 40 27.5 55 2.5 46.5 44 9.5 M8
KHP-16 22.5 45 415 83 8.5 66.5 58 16 M8
KHP-20 25.5 51 48.5 97 10 79 69 20 M10
KHP-25 30 60 57.5 115 14 95 81 23.5 M10
KHP-32 39 78 68 136 17 113 96 32 M12
KHP-40 47.5 95 56 112 0 112 112 38 M16
KHP-50 | 56 112 68 136 0 136 136 47 M20




Ll LEEMIN

E20HXIE

=1 S = /Llii’;—\ |
BISKSATERRBG) O OO —

KHBF: IBIEREIBRIEON 16-25 . o B . THEHRANGR)
KHVIF, BEERURIFON 32-50(7E) BHII 1 sigheom

AFRIBIZ Dia.(mm) AFRIE ST Press.(bar)

FAE: NE. BAR; REBHLALE

SW1
BRI R T
S A S
I [
|
|
KHBF 8 1 1T 7 .
L1
b A
L
— A —
|
o ‘,H@&L
b -
KHMF
R &
L1
]
L — L
b A
L
Al S Model LW L L1 D dl d2 K B b H hl h2 h3 SW1 | Z*
KHBF-016 -PN 40 15 130 47 95 45 14 65 38 16 63.5 19 46 11 12 4
KHBF-016 -PN 160 15 130 47 105 45 14 75 38 20 63.5 19 46 11 12 4
KHBF-016 -PN 315 15 130 47 128 45 18 90 38 26 63.5 19 46 11 12 4
KHBF-020 -PN 40 20 150 60 105 55 14 75 48 18 75 24 57 12 14 4
KHBF-025 -PN 40 25 160 65 115 65 14 85 57 18 82 28.5 64 12 14 4
KHBF-025 -PN 160 25 160 65 138 65 18 100 57 24 82 28.5 64 12 14 4
KHBF-025 -PN 250 25 160 65 148 65 22 105 57 28 82 28.5 64 12 14 4
KHBF-025 -PN 315 25 160 65 158 65 22 115 57 34 82 28.5 64 12 14 4
KHMF-032 -PN 40 30 180 84 138 78 18 100 82 18 108 41 87.5 14 17 4
KHMF-032 -PN 160 30 180 84 155 78 22 110 82 26 108 41 87.5 14 17 4
KHMF-040 -PN 40 38 200 91 148 88 18 110 93 18 119.5 46.5 99 14 17 4
KHMF-040 -PN 160 38 200 91 | 168 88 22 125 93 28 119.5 46.5 99 14 17 4
KHMF-040 -PN 250 38 200 91 | 185 88 26 135 93 34 119.5 46.5 99 14 17 4
KHMF-040 -PN 315 38 200 91 195 88 26 145 93 38 119.5 46.5 99 14 17 4
KHMF-050 -PN 40 48 230 100 | 165 102 18 125 110 20 135.5 55 115 14 17 4
KHMF-050 -PN 63 48 230 100 178 102 22 135 110 26 135.5 55 115 14 17 4
KHMF-050 -PN 160 48 230 100 195 102 26 145 110 30 135.5 55 115 14 17 4
KHMF-050 -PN 250 48 230 100 198 102 26 150 110 38 135.5 55 115 14 17 8
KHMF-050 -PN 315 48 230 100 208 102 26 160 110 42 135.5 55 115 14 17 8

=% HA



E20HXIE

BSHSATERM)

23 EEK T

LEEMIN

EREZE Connecting

KHB3K — [J—PN[] — [

BHEAME

B T REIRA(NBR)
: FURER(FPM)

NFRIE ST Press.(bar)

FAR: WE. dhiR; REBHEALE

RI= @RISR T swi
L S
" |
- _ ;
I
L1 LW
L B
| N
ZEREFZR Connection A S Model DN | LW | RA d1 i L L1 B | H [hL | h2 | h3| S |SwWl|sw2
N KHB3K-G1/8-PN315 04 | 06 | - | GL/8 0] 69 | 37| 28445 13 | 32 [ 08 | 35 | 09 | 22
sw2 | KHB3K-G1/4-PN315 06 | 06 | - | G4 14 69 | 37 | 28445 13 | 32 | 08 | 35 | 09 | 22
KHB3K-G3/8-PN315 10 10 - | a3/8 14 72 | 42| 3252517 | 40 [ 08 | 36 | 09 | 27
__ ‘ KHB3K-G1/2-PN315 16| 15] - | 62 16 8 | 47| 3863519 | 46 [ 11 ] 42 | 12 | 32
A KHB3K-G3/4-PN315 20 | 20| - | @34 18| 95 | 60 | 48| 75 | 24 | 57 |12 |49 |14 | 41
KHB3K-G1-PN315 25 | 25 | - Gl 205[ 113 | 65 | 57 | 82 |285 ] 64 | 12 [ 565 ] 14 | 50
KHB3K-06LR-PN315 04 | 04 | o6 [Mi2x15| 10] 67 | 37 | 28 |445] 13 | 32 | 08 [345] 09 | 22
2° KHB3K-08LR-PN315 06 | 06 | o8 | M14x15| 10| 67 | 37 | 28 |445] 13 | 32 | 08 [345 | 09 | 22
dl KHB3K-10LR-PN315 08 | 08 | 10 [miex1s5| 11 ] 74 | 42 [ 3252517 | 40 [ 08 [ 37 [ 09 | 27
RA KHB3K-12LR-PN315 10 | 10 | 12 [miexas| 11| 74 | 42| 32 525] 17 | 40 | 08 | 37 | 09 | 27
sw2 | KHB3K-15LR-PN315 13 | 13 ] 15 [meaxus| 12| 82 [ 47 ] 38[635] 19 | 46 [ 11 [ 40 | 12 [ 32
-—1 KHB3K-18LR-PN315 16 | 15 | 18 | m26x15 | 12| 82 | 47 | 38 [635] 19 | 46 | 11 [ 42 | 12 ] 32
KHB3K-22LR-PN315 20 | 19 [ 22 [ m3ox2 | 14101 60| 48] 7524 [ 571252 14]a
KHB3K-28LR-PN315 25 | 25 [ 28 | m3ex2 | 14 [ 108 65 | 57| 82 [285 ] 64 [ 12 [ 54 | 14 | 50
KHB3K-08SR-PN315 04 | 05 | o8 [mexis5| 12 73 | 37 281445 13 | 32 [ 08 [ 37 [ 09 | 22
KHB3K-10SR-PN315 06 | 06 | 10 [msxis| 12 73 [ 37| 28]445] 13 [ 32 08 [ 37 [ 09 | 22
KHB3K-12SR-PN315 08 | 08 | 12 [moox15| 12 76 | 42| 3252517 | 40 [ 08 |38 [ 09 | 27
KHB3K-14SR-PN315 10 [ 10 | 14 [m2axa5 | 14| 80 [ 42 | 32 [525[ 17 | 40 [ o8 [ 40 | 09 [ 27
KHB3K-16SR-PN315 13 | 13 ] 16 [moaxus| 14| 86 | 47 ] 38 [635] 19 | 46 | 11 [435] 12 [ 32
KHB3K-20SR-PN315 16 | 15 [ 20 [ m30x2 [ 16 [ 90 | 47| 38 [635] 19 | 46 | 11 [455] 12 | 32
KHB3K-25SR-PN315 20 | 20 [ 25 [ m3ex2 | 181109 60 [ 48] 75 [ 24 | 57 [ 1256 [ 14 | @
KHB3K-30SR-PN315 25 | 25 [ 30 | ma2ax2 | 20 [ 120 | 65 | 57 | 82 [285 | 64 [ 12 | 60 | 14 | 50
B9 TR RANE S KHB3K-M12X1.25-PN315 | 04 | 04 | 8 [m12x2.25] 09 [ 61 | 37 | 28 [445] 13 [ 32 | 08 | 35 [ 09 | 22
i KHB3K-M16XL.5-PN315 | 06 | 06 | 11 [miex15 | 11 [ 69 | 37 | 28 [445] 13 [ 32 | 08 | 35 | 09 | 22
o KHB3K-M22X1.5-PN315 | 08 | 08 | 16 [m22x15 | 12| 76 | 42 | 32 [ 525] 17 [ 40 | 08 | 38 [ 09 | 27
L KHB3K-M27XL.5-PN315 | 10 [ 10 | 20 [wmozxas| 12 [ 76 | 42 | 32 [525] 17 [ 40 | 08 | 38 [ 09 | 27
KHB3K-M30XL.5-PN315 | 16 | 15 | 24 |M30XL5 | 13 | 84 | 47 | 38 | 635] 19 | 46 | 11 | 42 | 12 | 32
KHB3K-M36X2-PN315 20 | 20 | 30 | M36X2 | 15 | 103 | 60 | 48 | 75 | 24 | 57 | 12 | 52 | 14 | 41
KHB3K-M42X2-PN315 25 | 25 | 35 | M42x2 | 18 | 116 | 65 | 57 | 82 | 285 | 64 | 12 | 58 | 14 | 50
KHB3K-M52X2-PN315 32 | 30 | 40 | M52x2 | 20 | 149 | 84 | 75 1045|375 | 8 | 14 | 72 | 17 | 60
KHB3K-M60X2-PN315 40 | 38 | 50 | M60X2 | 22 | 174 | 91 | 85 |1155|425 | 95 | 14 | 795 | 17 | 70




